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Exercise : Find the continuesa that works.
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integrable simple functions are zeo on a set of infinite measure.
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Suppose EfrB are continus and bonded on I
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Def : We say
that measurable functionsIn of

it measure if for all so there exists

N so that if up N m(5/f-f(z)CE ·

Very weak notion at convergence.

Clam : If fo ef in 1
,

then fief in measure.
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Recall Egoroffis Thi :

fo
,
mas
,
fu : D ->F, f> f p .W. a.e.

↑ ↳ funte are
.

m(1)<00

VazO7 EED
,
m(E) < E, fire f uniformly[ on DIE.

3. almost uniform corresence . = convergence in measure,

↳ down of fute nease.
mIffn f on a
banded domans and is finte are

they fu -f almost unforty > firs of in measure.







Clam : f - LP

If -> If10 pow are
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Coudy implies banded,

So feLP.
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